
SAP ABAP table T030 {Standard Accounts Table}

T030

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

KTOSL [CHAR (3)]

BWMOD [CHAR (4)]

KOMOK [CHAR (3)]

BKLAS [CHAR (4)]

KONTS [CHAR (10)]

KONTH [CHAR (10)]

SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]

 T030-KONTH = SKA1-SAKNR 
0..N

{0,1}
 T030-KONTS = SKA1-SAKNR 0..N

{0,1} T000

MANDT [CLNT (3)]

 T030-MANDT = T000-MANDT 
0..N1

T004

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

 T030-KTOPL = T004-KTOPL 

0..N

1

T025

MANDT [CLNT (3)]

BKLAS [CHAR (4)]

 T030-BKLAS = T025-BKLAS 

0..N

1


